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Section 1.3
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propl.3.ly For a graph G with§=§CE )

,
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② a path of length at least88←
and

⑥ a cycle of length at least
$+1

(provided 832 )

PI : ② Find a longest path P# we
' know¥#odcx ) 3 SCG )I
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We know nbhs of x lie on P o the wise P is hot

longest .

So P has to contain at least It dcx )

vertices .
. Thus it has at least

a
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N Ct ) on Path P
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let Z be hbh of x closest to y
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,
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Prop 1. 3.2 Every graph that

contains
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PI : ( direct counting proof )
.
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p leanest retros to C
. That portion

along w/ the shortest path on cycle
is a cycle that is smaller then C. ⇒ ⇐

Since C had girth GCG)
.
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